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4) 108" = 1080 x T o I LD (IR _ 310752 (/e

1km 10~6m = 60 min 60 s
(1cm)3

1cm3
(10~2m)3 10-6m3

B) 160m3 x

=160m3 x —— = 1/6 x 10?2 x 10°cm® = 1/6 x 108cm?® ¢/8)
1
1648000m? = 1648000m? x ——— = 164.8 JEces

10000m?2

(+1Y8) (I

a=10cm =0.1m > A=axa=0.1x0.1=0.01m?>
V=axaxa=0.1x0.1%x0.1=103m3
24 x 10% kg/m® = — - m=24kg

10—3m3
p=24x10%kg/m?
/¥Yd) (o
mg _ 240

p=T p—m=2.4Pa
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p==
A

P = 2atm — 1atm = 10°Pa (+18)
A=4x10"%m?
F=P.A=(10°Pa)(4 x 10~°m?) = 0.4N +18)

F=W=mg - m=40gr (+/1)

\e

Vb

Pa = Pb
p = po + pgh = 100000 + 24000 = 124000
p = pgh = 8000 x 10 x % = 24000Pa

A

A]_Vl = A2V2 (’/YA)
d

/5 (%)2 Vi=m (?2)2 v, -1Yd)

0.05%2 x 1.5 = 0.01%V, (+IYd)
V,=37.5 m/s (1Y)

Y

Ky =>mV? =X 0.3 X 400 = 60j

K, =5mV? =2 x 0.3 X 625 = 93.75]

v

A

Wrp=FxdXxXcosa=30x0.04%Xcos60=0.6j (+1Yd)
Wg, =FgXdxcosa=10X%0.04 X cos180 = —0.4 (+1Yd)
Wing =mg xdXxcosa=30x0.04xcos90=0j (IY&)
Wy=NxdXcosa=0j ¢IYd)

Wr=Wp+Wg, +Wpg+Wy=0.2j (+/8)
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